

$$f(x) = \frac{x}{x^2 + 4} \quad \mu \quad (2,1).$$

)

$$= 4.$$

)

$$f$$

)

$$f$$

μ

μ

1

μ

-1.

;

)

 $x \in \mathbb{R}$

$$256x^4 + 16x^2(x^2 + 4)^2 - 2(x^2 + 4)^4 \leq 0$$

)

$$f(f(x^{1453} - 2) + f(2 - x^{1453}) + f(2)).$$

)

$$f$$

$$(2, +\infty).$$

)

$$) \quad \mu \quad A(2,1),$$

$$f(2)=1 \Leftrightarrow \frac{2}{4+4}=1 \Leftrightarrow 2=8 \Leftrightarrow =4$$

$$) \quad f \quad x^2+4 \neq 0 \Leftrightarrow x^2 \neq -4, \quad D_f = \mathbb{R}, \quad \mu \\ x \in A_f, -x \in A_f.$$

$$f(-x) = \frac{4(-x)}{(-x)^2+4} = -\frac{4x}{x^2+4} = -f(x) \quad x \in \mathbb{R}, \quad f$$

$$) \quad f \mu \quad \mu \quad 1, \quad f(x) \leq 1 \quad x \in \mathbb{R}.$$

$$f(x) \leq 1 \Leftrightarrow \frac{4x}{x^2+4} \leq 1 \Leftrightarrow 4x \leq x^2+4 \Leftrightarrow 0 \leq x^2-4x+4 \Leftrightarrow (x-2)^2 \geq 0$$

$$f(x)=1 \Leftrightarrow \frac{4x}{x^2+4}=1 \Leftrightarrow \dots \Leftrightarrow (x-2)^2=0 \Leftrightarrow x=2, \quad f \quad \mu \quad 1 \quad x=2.$$

$$f \quad \mu \quad -1, \quad f(x) \geq -1 \quad x \in \mathbb{R}.$$

$$f(x) \geq -1 \Leftrightarrow \frac{4x}{x^2+4} \geq -1 \Leftrightarrow 4x \geq -x^2-4 \Leftrightarrow x^2+4x+4 \geq 0 \Leftrightarrow (x+2)^2 \geq 0$$

$$f(x)=-1 \Leftrightarrow \frac{4x}{x^2+4}=-1 \Leftrightarrow \dots \Leftrightarrow (x+2)^2=0 \Leftrightarrow x=-2, \quad f \quad -1 \quad x=-2.$$

$$) \quad 256x^4 + 16x^2(x^2+4)^2 - 2(x^2+4)^4 \leq 0 \Leftrightarrow \frac{(4x)^4}{(x^2+4)^4} + \frac{16x^2(x^2+4)^2}{(x^2+4)^4} - \frac{2(x^2+4)^4}{(x^2+4)^4} \leq 0 \Leftrightarrow$$

$$f^4(x) + \frac{(4x)^2}{(x^2+4)^2} - 2 \leq 0 \Leftrightarrow f^4(x) + f^2(x) - 2 \leq 0 \Leftrightarrow \overset{f^2(x)=}{^2} + -2 \leq 0 \Leftrightarrow -2 \leq \leq 1 \Leftrightarrow -2 \leq f^2(x) \leq 1 \Leftrightarrow$$

$$\begin{cases} f^2(x) \geq -2 \\ f^2(x) \leq 1 \end{cases} \Leftrightarrow |f(x)| \leq 1 \Leftrightarrow -1 \leq f(x) \leq 1 \quad x \in \mathbb{R}$$

$$) \quad f \quad f(2-x^{1453}) = f(-(x^{1453}-2)) = -f(x^{1453}-2), \quad :$$

$$f(f(x^{1453}-2)) + f(2-x^{1453}) + f(2) = f(f(x^{1453}-2) - f(x^{1453}-2) + f(2)) = f(f(2)) = f(1) = \frac{4}{5}$$

$$) \quad \mu \quad x_1, x_2 \in (2, +\infty) \quad \mu \quad x_1 < x_2$$

$$f(x_1) > f(x_2) \Leftrightarrow \frac{4x_1}{x_1^2+4} > \frac{4x_2}{x_2^2+4} \Leftrightarrow 4x_1(x_2^2+4) > 4x_2(x_1^2+4) \Leftrightarrow 4x_1x_2^2 + 16x_1 > 4x_1^2x_2 + 16x_2 \Leftrightarrow$$

$$4x_1x_2^2 - 4x_1^2x_2 + 16x_1 - 16x_2 > 0 \Leftrightarrow 4x_1x_2(x_2 - x_1) + 16(x_1 - x_2) > 0 \Leftrightarrow$$

$$x_1x_2(x_2 - x_1) - 4(x_2 - x_1) > 0 \Leftrightarrow (x_2 - x_1)(x_1x_2 - 4) > 0 \quad x_1 > 2, x_2 > 2 \Rightarrow x_1x_2 > 4$$

$$x_1 < x_2 \Leftrightarrow 0 < x_2 - x_1$$

